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O OHoIsAl ASAIE MFEX fE2e] =
== 1,600,000 122 19,200
O A2AE AgOIMPR| 248
300,000 122 3,600
O A2ANM 2T 29 242
660,000 122 7,920
O A2AE sZ)| otd2te] HERAIE2s:
gl 150,000 * 10 A+ 123 1,800
O HI&HHA S| S0t 7
10,0002 *9000HK 9,000
O AANM TYBRH 242
3,500,000 #22] 7,000
O £2A& BX= Y %X 0tAT 7Y
200,000 *62 1,200
O MAOHE D] 42
10,0003 *20& 42| 800
O ¥X Jlz02 NS 242
100,000& +7H 700
O aZAE HZES 7Y 1,920
—3lEX & HEEE 80,000& *122] 960
-JIet HA88 960
O 22N B2 1= Y 2,660
-22=(sh SEI)PY
120,000& »7 H 22 1,680
— ot et 2 70,0003 7 H+23| 980
02 S22l 1,240,016 1,041,336 198,680
O 22AIE AIEE HEHO &l |X2el 40,000
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HOIZS A2l
BEIIZAE 2el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEEES IS
280,000 * 122 3,360
O 2&2AE RX 80,000
O HIRk=s 20,0003 *1, 250k~ 123 300,000
O E=Hl 4503 %10.78E+300&! 1,456
O 3% 72 4,000,00021+63] 24,000
O 22K S&AAAZ
100,000& %17 1,700
O HI&HH Xeldl 550,000& *320= 176,000
O &ZAE B4 47,000
422 ANEHY 10,000,000 #43] 40,000
-22d M2H 7,000,000&*12 7,000
O 42AE BEHYTE FE= 5,000
O A2FH| 1,500
-RYed, 28R, el S ANl 1,500
O A2AE JJ| B+ 560,000
—=EMAEES+Y 10,000
-2t AXE AT A 160,000
—IAD1 el #01a, 2=3014, JIAH
A A2E7Y 20,000,000 *5IH 2~ 100,000
—BHAABISE A2E Wi 10,000
-—HE22H 2 ZED| B 40,000
—EEI] G2 WA 50,000
-3JI=E)| E= 10,000
—HIATHAI0IN (A, Ml &) 30,000
-A2A4Z UetEE=s 50,000
—M=Z] 2HI0I0 X 100,000
202 04| 3,348 3,348
01 =LHOLI 3,348 3,348
O A2AE Ast S o4l 3,348
206 M=l 192,748 228,818 236,070
01 MHZH| 192,748 228,818 A36,070
O dataAg] 96%+840,000kg 80,640
O =LA 3|(3254) 5503 *2,000kg 1,100
O =2LeyE 3,800& 7 ,800kg 29,640
O 4= 1,100& 47 ,000kg 51,700
O 22U0k= 6702 +6,000kg 4,020
O SgFE2H 5,600 +6002| & 3,360
O d== Sl 44,0002 525 2,288
O sAX00IZE B3l § 7
400,000 x50k 20,000
3 g 28 1,623,965 1,712,132 88,167
= 180,200
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g gz 23
ol dAEAMH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 141,222
s 1,302,543
P=REAELES 1,623,965 1,712,132 88,167
= 180,200
== 141,222
[Ea 1,302,543
2 HeEE F=a 115,204 113,704 1,500
201 =3 76,904 81,404 A4,500
01 At2t2lt] 15,200 19,700 24,500
O HIEIOI0 fAEXCIHl S
1,800,000 *43] 7,200
O HEg&Zs fIEXall
1,000,000 *23] 2,000
O HAzH| AKX el 500,000 22 1,000
O Hi=s2ef fI8Haltl 3,000,000& %12 3,000
O M8 RollHIIZ M2l =5+ 2,000
-HE&s 228 7Y
50,0002 x40k 2,000
02 s3=gHl 61,704 61,704 0
O NgEss HsdE3I0| |2 56,304
-=AZel € 2EMHIA
321,000 x120H = 12 46,224
-] & SAHIE
70,0002 «12CH* 12& 10,080
O MHEES A FX2AeHI(5E)
5,400,000 1CH 5,400
206 M=Hl 38,300 32,300 6,000
01 MHZH| 38,300 32,300 6,000
O Hegss 2=l 7
300,000 *40CH 12,000
O Hess 2d=i8 12 2
5,000& 2, 00004 10,000
O MeEs88 2e=AU8 HI€s& 7
4002 *15,000& 6,000
O Nages 2ol ott=
4503 x1,0000H* 1404 A~ 6,300
O HAEX =HE ==& BIXl
80,0002 *500H A 4,000
otM ot A I E 2tALY 61,000 70,000 /9,000
= 42,700
[Ea 18,300
101 e124d| 59,000 58,760 240
= 41,300
= 17,700
M ORINZZE2NSE S 59,000 58,760 240
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ol dAEAMH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O otdot= AefJ|EetArg el2it| 59,000
= 41,300
= 17,700
206 MH=H| 2,000 2,000 0
= 1,400
s 600
01 M=8l 2,000 2,000 0
O ot&ol= AdDIEeAEY A8 =7 2
ol 2,000
2 1,400
= 600
SZEMHHIY =HEd= 650,000 650,000 0
= 130,000
< 65,000
= 455,000
301 EtE NS 650,000 650,000 0
= 130,000
== 65,000
o 455,000
14 JIEt2 8= 650,000 650,000 0
SEHHIE =HEd= K&
100&%6,500,000kg 650,000
= 130,000
s 65,000
s 455,000
sEXNGeZ e 23,191 22,627 564
101 @124H| 23,191 22,627 564
M ORIMZZ2NSE S 23,191 22,627 564
Se 0S| LI XD +=HL
24 78,8803 x3E+7 U x 1404 A 23,191
Harlg=d 313,831 215,931 97,900
201 er2&y| 78,000 80,100 /2,100
01 AtR2t2|HI 68,900 68,900 0
O XD SEH &2= HH 9,100
- MY IIE017] EE SAHIHE MH
50,000 *23 * 1404 A 1,400
- XIIE0DI(A=0ES) 8 ZIE
M 50,0002 #23| * 140H A 1,400
-NE=g E Xy 2elE 2= M
a4 us 4,500,000& 12 4,500
—-HEHII= BiE 2B WA
3003 %6, 0000H 1,800
O XD =H AT 2t AEIH WA
2003 »8,0000H 1,600
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el dAEASME EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O 89 AgDisgsl(=0¢1dy) Z20HE
INEEDN B 150,000 *24H 3,600
O XE & 2XMYI| Xl
500,002 * 100 50,000
O BASE(EY, &N S) 72
300,000& x 122 3,600
O Hgd 2SIz 1,000,000 %13 1,000
02 S3=gHl 9,100 11,200 2,100
O Hessuite |X2==H|
300,000 2004 A 6,000
O R8I ZAIE IV SR E==4|
1,000,00024%374 A 3,000
O M| £20 2 DHE HYES
20,0003 +5% 100
202 0o4dl 5,831 5,831
01 =LHNHI 5,831 5,831
O X SEH g% =& 04| 5,831
206 M=l 130,000 130,000
01 MHZH| 130,000 130,000
O XD| SEM S5 MA(A2A2) 110,500
—104 402 %100, 0000H 4,000
-2014 602 300, 0000H 18,000
-50¢ 1253 %300, 0000H 37,500
—751 1703 %300, 0000k 51,000
O 3338 X&)l SEH sF(22A4E) 6,300
—5014 12521%30,0000H 3,750
~751 1702 +15,0000H 2,550
O s S2M SS(0tHE) 13,200
-2014 440 *30,0000H 13,200
401 Al HIZL 201 100,000 100,000
01 Al&H| 100,000 100,000
O 8 HeES d88 HEMY 100,000
Ssdoty & N3 25,000 25,000 0
= 7,500
Ea 17,500
401 AIEHIX 20HH 25,000 25,000 0
= 7,500
s 17,500
01 AlZ28| 25,000 25,000 0
O SS&oty SXEAY
5,000,000 *5JH 2= 25,000
= 7,500
T 17,500
He88 =1 wa=s A 12,000 0 12,000
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g gz 23
ol dAEAMH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,600
s 8,400
201 er23| 12,000 0 12,000
= 3,600
= 8,400
01 At2teltl 12,000 0 12,000
O Nes8 =) nass 2 12,000
= 3,600
o 8,400
Mges suloteg X 100,000 90,000 10,000
401 AIEHIZ SR OHYI 100,000 90,000 10,000
01 Al&HI 100,000 90,000 10,000
O HEE 2WSAL &AL
14,285,700 *7H 2 100,000
SSHAM = & H& Mel X 52,000 96,000 244,000
= 15,600
[Ea 36,400
201 eer23| 52,000 96,000 244,000
= 15,600
o 36,400
01 AtR2tc|HI 52,000 96,000 44,000
O Nge =2t WolE ASH2]
400,000& *130= 52,000
[ 15,600
Ea 36,400
MEHIIZS HE HHEAE &X K& 150,000 105,000 45,000
= 30,000
o 120,000
401 AIEHIX SO 150,000 105,000 45,000
= 30,000
o 120,000
01 AlZ2H| 150,000 105,000 45,000
O d2HII= HE BHEAE £X 150,000
-Z8E tiEA4
15,000,000 * 1094 2= 150,000
& 30,000
= 120,000
StPIE =24 XA 31,313 29,632 1,681
= 9,3%
Ea 21,919
301 EtE2 NS 31,313 29,632 1,681
=S 9,394
s 21,919
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ol dAEAMH EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
B2 ds 31,313 29,632 1,681
O soeld = N2 4| X2 AL 31,313
= 9,3%
o 21,919
Hgss =80 HNsE3 N 426 0 426
s 128
s 298
201 et 3| 426 0 426
< 128
[Ea 298
01 At2t2lt] 426 0 426
O NgEs =8 AMES 2 426
< 128
= 298
Az Addlls gAY 35,000 70,000 135,000
401 Al HIZ 201 35,000 70,000 /35,000
01 A28l 35,000 70,000 /35,000
O Meieg AH0IE ZAAY
35,000,000 *1IH 2 35,000
MY DIES CCTV EXIAG (HEALY) 35,000 54,238 19,238
== 17,500
= 17,500
401 Al HIZL 201 35,000 54,238 19,238
= 17,500
= 17,500
01 Al&H| 35,000 54,238 A19,238
O XDl 28 FI| @58 IV €X
5,000,000 *7CH 35,000
= 17,500
o 17,500
MDl S-S &5 CTV £X 20,000 20,000
401 AIEHIZ SR 0HYI 20,000 20,000
01 Al&HI 20,000 20,000
O 0I34! CCTV EXIA
5,000,000 =4CH 20,000
HH2LZH(SZ 24D 39,885 38,613 1,272
Jl=23sl 39,885 38,613 1,272
fA JlE3Hl 39,885 38,613 1,272
201 et 3| 26,280 25,128 1,182
01 At22t2l] 14,880 14,880 0
O BAJlE 22l 14,880
2 35244l 11,400 10,248 1,152
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